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What is a grade boundary?

A grade boundary is where we set the level of achievement required to obtain a certain
grade for the externally assessed unit. We set grade boundaries for each grade, at
Distinction, Merit and Pass.

Setting grade boundaries

When we set grade boundaries, we look at the performance of every learner who took
the external assessment. When we can see the full picture of performance, our experts
are then able to decide where best to place the grade boundaries - this means that they
decide what the lowest possible mark is for a particular grade.

When our experts set the grade boundaries, they make sure that learners receive grades
which reflect their ability. Awarding grade boundaries is conducted to ensure learners
achieve the grade they deserve to achieve, irrespective of variation in the external
assessment.

Variations in external assessments

Each external assessment we set asks different questions and may assess different parts
of the unit content outlined in the specification. It would be unfair to learners if we set
the same grade boundaries for each assessment, because then it would not take
accessibility into account.

Grade boundaries for this, and all other papers, are on the website via this link:

http://qualifications.pearson.com/en/support/support-topics/results-
certification/grade-boundaries.html
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Introduction

This examiner report should be read in conjunction with the question paper and
the published mark scheme. The report provides an insight into examples of
responses that scored highly and responses that scored less. Centres could use
this with learners in their teaching to ensure they understand how marks are
gained.

This was the third sitting of 31463H Personal and Business Finance. The paper was
of a similar nature to June 2017 in terms of its layout. The paper consists of two
sections. The first section (Section A) focuses on personal finance and consists
of both short and longer answer questions and is worth a total of 36 marks. The
second section (section B) is based around finances for businesses and is worth
a total 64 marks.

Introduction to the Overall Performance of the
Unit

It was particularly pleasing to see a higher standard of some of the extended
written answers. Learners frequently demonstrated good subject knowledge and
showed improved skills of analysis. To improve performance further a number of
learners would still benefit from providing more balance in their responses. This
is particularly important on the extended written answers. Giving justified
conclusions where these were required (questions 6 & 14) would also help
improve the quality of response. This was also the case in the last window.
Learners who scored higher marks in the longer questions demonstrated not
only good knowledge and understanding of the content being addressed but also
the ability to apply their knowledge and understanding to the context provided.
As mentioned for both the previous series paper this is a fundamental
requirement in being able to allocate the higher levels in the extended writing
questions, i.e. those questions starting with the command verbs discuss,
analyse, assess and evaluate.

Numerically learners will benefit from showing labelled workings to allow the
examiner to follow their train of thought. This would enable marks to be
awarded for process which will help learners achieve a better grade.

Learners will continue to benefit from practicing their skills and to apply their
knowledge and understanding to a broad range of contexts before taking the
assessment. Centres should consider carefully how they plan their curriculum to
ensure that learners have had sufficient time to practice and prepare before
taking the exam. There was a noticeable difference in performance of students
who have been studying the qualification for longer than those who have been
registered more recently.



Individual Questions

Section A Personal Finance

Q1

This question was well answered with most learners gaining full marks. Where
learners provided examples of two different banks this was rewarded with one
mark for the work bank in their answer (e.g. Barclays Bank, Nat West Bank
would receive 1 mark).

In the example below two marks awarded for correct answers as per the mark
scheme.

1 Give two different types of financial institution,

T = o Ua Y. S T

2 Pension  compan

In the next example shown below zero marks awarded as an incorrect answer
was provided.

1 Give two different types of financial institution.



Q2

This question was less well answered with a number of learners providing one-
word answers or incorrectly identifying what the FCA does. Some learners said
they gave advice on the best product to choose which is incorrect.

Two marks were awarded on the example below. Both are rewardable
responses.

2 State two ways the Financial Conduct Authority (FCA) can protect consumers in
relation to personal finance.

1 MOk e. . .SL,lfoCOI

e W - bf’n"\ __________________
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Zero marks were awarded in the example shown below. Neither of the two
examples are correct.

2 State two ways the Financial Conduct Authority (FCA) can protect consumers in
relation to personal finance.

Q3

This question proved to be a good differentiator with a good range of marks
awarded. The stronger learners could identify both the advantages and
disadvantages correctly. A number of learners incorrectly stated that direct
debits always occur on the same day for the same amount but this is not
technically correct as the third party can take funds as and when required to
service the account.

In the example below.

3a Two marks awarded.

3b Two marks awarded.

In the disadvantages the word card was taken to mean bank card / account to
give the learner the benefit of the doubt. The disadvantage which was rewarded
in this example was that it could lead to an overdraft.



3 (a) Give two advantages to the consumer of paying monthly bifls by direct-debit.
(2)
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(bl Give two disadvantages to the consumer of paying monthly bills by direct debit.
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In the next example shown next the following marks were awarded.
3a One marks awarded (automatically comes out of your account).
3b No marks were awarded.

3 (a) Give two advantages to the consumer of paying monthly bills by direct debit.
(2)
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(b) Give two disadvantages to the consumer of paying monthly bills by direct debit.
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Q4

This question produced some very interesting responses which were sometimes
a little stereotypical. Some candidates did not apply to the situation that people
in old age might be in and gave generic answers about the benefits and
drawbacks of borrowing and saving which lost the learners marks.

In the example below six marks were awarded placing it at the very top of band
three. The learner demonstrates a thorough understanding of relevant
information and produces a well-developed, balanced discussion.

o
4 Discuss the personal attitudes of peaple in old age towards borrowing alH saving. m}.":
(6)
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In the following example zero marks awarded. This response does not answer
the question but gives some generic benefits and drawbacks of borrowing and
saving as mentioned earlier. These could therefore not be rewarded as they do
not answer the question.



Personal attitudes towards the role of money will differ according to the individual's life
stage.

4  Discuss the persanal attitudes of people in old age towards borrawing and saving,
1.]]

e e s S M Qe ...

R MMWWW%
P sdamanbisge . Nessde ﬁmwh&m ______

T, W TR WS E‘-_.j‘ﬂ'—' et o T m.eﬂmum-j
LM ﬂe«-ﬁ-j s cobnped M3 S e foer o T
[T jﬂ SO A S ﬁ'-j T‘-“&

i& ...... mwﬁhhﬂt me«-jmﬁanh!’"fmwmlm—

WM e ijh ..... e, Was
I:Ju.urj ...... Dok Tomare  bome ke mddihened e te

"l..:t...mﬁar- ............................ b ey Mmrihnw

(T W= PSS PR =T ,sm.m.r-hjt-': mme



B X = P T mﬂmﬁrﬂmc#ﬁsa%

Hommictar . et dicmademaedene oh WM .

e e oo e ded Rt e TR

Wﬂmﬁwwmm ....... (PO N, o Ln..-.tjkfﬁ
R P B P el I NP U SN 5 LT S

10



Q5

This question provided a wide range of responses. Stronger learners could
identify the benefits and drawbacks of using an Independent Financial Advisor.
They could also draw good comparisons with other providers of advice which was
then well rewarded. Weaker responses were one sided and lacked the depth
needed in their argument to achieve the higher mark bands.

In the next example eight marks were awarded. This was a well balance answer
with good development and as conclusion which perhaps could have summarized
a little better which would have helped it achieve higher in mark band three
rather than being at the bottom of the level.

& Assess whether Moma should use an Independent Financlal Advlsar as a source of
firancial advice,
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In the next example for two marks awarded placing it in mark band 1. There
are two points which are of credit although we should be mindful that the
number of points made does not mean a learner achieves this many marks. The
first is that “it will cost her money” and the second is that “she doesn’t need it at
the moment but may do in the future if she makes a large purchase”. This
answer has major gaps in knowledge and lacks development.
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Q6

This question proved to be well answered by many learners with a good spread
of marks achieved. Questions of a similar structure have been asked in previous
series and it appears that learners were much better prepared for the question

as a result.

12 marks were awarded for this answer below which places it at the very top of
mark band 4. This was an excellent answer which covers all the products on
offer and discussed them in detail and comes up with a strong justification for
the decision made.

16



6 Evaluate which packaged current account would be the most suitable for Liam,
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In the next example five marks awarded placing it in mark band 2. The learner
presents numerous points demonstrating some linkage between the points
made. This helped to support a judgement they present at the start of the
response. However, there are too many omissions in this response which
prevent it from moving to a higher band.

6 FEvaluate which packaged current account would be the most suitable for Liam.
(12)
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Q7

This question was well answered with most learners being able to achieve full
marks.

In the next example one mark was awarded for the idea of measuring the value
of the business (balance sheet / statement of financial position)

7 Give one reason for recording financial transactions.

i 0. cateuiale YT oI

In the second example zero marks were awarded. This would not be a reason
for recording the transaction (this invoice could prove ownership without it being
recorded).

7 Give one reason for recording financial transactions.

Teo.. pove. Hab e owns. bl assets ...

Q8

This question gave a range of answers and marks proving an effective
differentiator. It was clear that many leaners understand the concept of variable
costs and gave correct answers. Given the limited scenario at this point several
answers were accepted as, depending on what the business does, they could be
construed as variable costs so the benefit of the doubt was given to learners.

For the next example two marks were awarded on the basis that travelling to
clients would cost proportionally more and grooming products would vary
depending on the number of clients.

8 Identify two variable costs that a business such as Pet Boutique could have.

For the next example zero marks were awarded as this were incorrect
responses.

8 Identify two variable costs that a business such as Pet Boutique could have,
1.One NOnothe ot Connd D equptment
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Q9a
Many learners gained full marks which was pleasing. Learners showed the
formula and were rewarded with a mark where they made a calculation error.

Rounding errors (down instead of up) were quite common and lessons should be

learned on this.

In the next example two marks awarded for correct response. Either the
72.15% or 72% would have gained two marks.

-
Show your workings

22 8\2

5
—

AfosS Pregis

B\, 290 X

%
—
-

SRS Yevenue X \OQ - |
\QO = A2 .\S .

2./

A

The next example is worth one mark awarded for the correct formula. The
answer has been incorrectly rounded down to highlight the point made earlier.

e
Show your workings

/8rm$¢ 69f‘0ff"r' — f?.efwmw)kf /OO = Q'rm;rf
22 K12 T 3] 200x/00s 7,

¥
MD; 9

d

W
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Q9b

This question proved challenging for some learners. A lack of knowledge was
demonstrated by some learners who provided the current ratio formula and
calculation instead. Reading the question carefully would help to avoid this
occurring.

In this example two marks were awarded for the correct answer. Had the
learner miscalculated they could still have gained a formula mark so this answer
demonstrates good practice.

- _ \ e .
Show your workings '{dwid  cepited  yadio =

Cc,uhw\ux:t a_sse+s -—tnvemdcc‘\/tb %abwi\iﬁej

(239¢ - ake) | ssay - o.9]:]

o X R

In this example one mark was awarded for using the correct formula.

- w
Show your workings

CA- NN
CL

F300” 240
B34 2000
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Q9c(i)

For this question learners were asked to calculate the new net book value of an
asset. This should have proved straightforward and many learners gained full
marks. Learners should try to label workings clearly so that, if a mistake is
made some of the answer may still prove creditworthy. It should be noted that
in the specification the straight-line method chosen to be used is X% of cost
rather than (cost - residual value)/ number of years. Although this is a
recognized method of calculating the depreciation since it is not in the
specification it will not be tested. Residual value with therefore not be given to
avoid any confusion.

For the next example two marks were awarded for a correct response.
e Y
Show your workings

1% 0f Bsow=- \2F S

S Q0O
PR

In the next example one mark was awarded for correctly showing the formula in
numbers. Miscalculating the figure was not uncommon so checking your answer
is recommended.

4 \
Show your workings

LToo X 0-\ T
= 1235

gToo — (AT T TALS
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QO9c(ii)

Many learners found this question a little challenging. The common mistake was

to deduct £800 from the current assets but then neglect to add £800 to the
current liabilities. This frequently lost marks.

In the example below three marks were awarded for the correct response. The

learner has also labelled the figures which helps when awarding any OF marks

when the final answer is incorrect.

p
Show your workings

News current assers = © 996

MU Cavend habdbes= ©62Y

Yo gt furent
b, - Gt | < O i

699% - 662y = 312

In the next example two marks were awarded. One mark was for correct

formula in words and one mark for correctly calculating the new current asset

figure.

p
Show yourworkings C\C €Ny - CuryMd  _ Wek Oy
ye ® dssexs Loptes ~ossets/

wablWwoes,
2,000 -800 = 1,200 - cank
L, HAG + 2,100+ 2,200 + 200
:élmc - Curyeny O\S%Q.tg,

6, A% -5 a4 = \, | F2
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QOc(iii)

There were several ways of calculating the new net assets figure. A common
mistake was not to consider some of the errors and only do the last one. This
was exacerbated by poor workings which had numbers not clearly labelled and
lost marks for the learner as a result.

In the example below one mark was awarded. This was for the formula shown
in words.

! Show your workings )
Net Assers = All assetr -AL Lablithes
IS3Z2S +F7F96= 2312
b314+ 1obo = 324
AT
| >y
In the next example no marks were awarded. None of the figures are labelled
and are not as per the mark scheme.
' ™
Show your workings
| 1669
2/ =z
LW [ 7, 8 70+
‘ ’ I
2216 31,26
2, 0007 AU
q
\ =+ s 24410 Kondi 3
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Q9

As with the last question 9c(iii) learners did not use all the information to
calculate the new net profit. The direct of some of the changes to profit was
often incorrect (the accrued expense was added to profit for example) which
cost learners marks.

In the following two examples no marks awarded.

' '
Show your workings

Show your workings

| 3702 4 12§02 [ a2
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Q10a

This question was well received by learners with a wide range of marks being
awarded but the most common being the full eight marks. Where learners lost
marks, common mistakes were to label the total inflows poorly and put the
wrong direction in some figures (i.e. showing some figures as a negative rather
than a positive and vice versa).

In the response below eight marks were awarded. All responses are correct.

January February March April
£ £ £ £

Income
Sales 2700 850 3650 2940
Other income 200 | i) 100 0 01
0 Tl Wl 2900 1150 3650 2940 [ (1)
Expenses
Stock 1102 1102 815 V) |72 F |
Marketing 80 520 80 80
Utilities 1280 0 0 1280
Other 1020 840 1200 1450
Total expenditure 3482 | (V) Tyfz 2095 3937 [ (1)
Net cash flow -582 [ (v) ~1HIT 1555 |vid ~W3 |y
Opening balance | (il 2| O 1558 246 1801 | (1)
Closing balance 1558 246 1801 | i) F04 |
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In the next response only two marks were awarded. Item (v) is the right figure
but the direction is incorrect as it is shown as a positive.

January February March April
£ £ £ £

Income
Sales 2700 950 3650 2940
Other income 200 | () 200 0 ol m
W SPES e 2900 1150 3650 2940 | (1)
Expenses
Stock 1102 1102 815 | (vi) )
Marketing - 80 520 80 BO
Utilities 1 280 0 0 1280
Other 1020 B840 1200 1450
Total expenditure 3482 | (i) 24 ¢é 2 2095 3937 | (1)
Net cash flow -582 | (v) 737 s 1555 | (vii y 555 |
Opening balance | (ii) 1 558 246 1801 | {1)
Closing balance 1558 246 1801 | (viil) 24 6 1)

30



Q10b

This question was based around calculating the break-even quantity. A pleasing
number of learners scored full marks. Equally many learners were unable to
calculate the selling price per unit by dividing the expected revenue by the
number of units to give the answer £18. A similar problem occurred with
calculating the variable cost per unit. Marks were also lost for writing the
formula with contribution rather than contribution per unit. This cost some
learners some marks.

In the next example four marks were awarded as the response is correct.

r 7
Show your workings

SF < Fioa cosr

(-_Z Corirkasion @t ol
& S¢ Wewo & V2T
Ceu= ook tote = Vo [eA U (U0 (a.l_ru..-:.t

Sl == =
Mo Tro = s
18 - v = - (lo

In the next example two marks were awarded. One mark was given for the
formula and the second for calculating the correct selling price per unit.

P
Show your workings

o | 74602 11640 = 1. &
Be = fFo=t ===

Conbrdaatin per wmrK

S6w
9 -~ 1. = 16 S ! © = 3G
6-5

L DU uwiks
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Q11

The next question was about break-even which is a question which sometimes
proves tricky for learners to explain. Marks were well spread with a wide range
being awarded. Learners often do not talk about break being used as a
predictive tool and frequently used past tense when discussing it.

In the example below five marks awarded placing it in the bottom of band 3.

The response displays a balanced discussion. However only some of the points
are developed which prevented full marks being awarded.

11 Discuss the advantages and disadvantages to a small business of using break-even
analysis.

(6)
AN adirokage ot sigEbreak eun analysis 15 hat wtzaw
v b mony. Slos gy Lot oot 1a smkac . Skack. WM .
MW&MW&MW Miwlher. U—,ag ..... peed, fo. vsitage.
Sl or potendaally Woctdse Cote prices Solhat. they. can ¢l ke
A prrogik. On bheir. cinttak BRY. Sade Sugrunts.. Antiar ddyrinkage b thak
ik could h@Lp o budues. commm A MMM b,
| ake doprosib AT bt
A dussdimpkagr s bk mbﬂ.az:m Can{a&ew furwte :
M trst. therssors. LTSB.. smamsdf \ooih awmc.gmwwa, :
" dsadimdogh: 15 thak &Mwwmm.
the. M&A@ TEOnL. mwarm and. 0)50 Aatsn ' bake who..

32



In the next response three marks were awarded placing it at the bottom of Level
2. The response is balance but not developed sufficiently to reach the top of
Level 2.

; 11 Discuss the advantages and disadvantages to a small business of using break-even
analysis.

Ao et pars EEA GOy, howRse, Togn. Tt
. ..‘I‘g:wcg;& ..... [ AT AR Vi N ¥ 4t S 1+ ....mq'\-i s Moy STeea

_ar. pi&{.rmw.h_ e

fﬁ'rﬂﬁ"ﬁ-m ..... ot Tapresz Al meen e ad, Bleremes .
A Eureaane® AR on. O SHNE ey e e Pawcagh

EIFL peaberrong wRL ol oehvEMe, e, T L el
v efaMe gargn ) Timasz WL lpe @0W A cep b R .
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Q12

Leasing proved to be a topic which some learners understood and produced good
answers but others struggled to show understanding of what it entails.

Common mistakes made was to mix leasing up with hire purchase or thing that
the company does not own the asset. A minority of learners may have misread
the question and took the view that the company was leasing its vehicles out to
other business. This demonstrates that reading the question is important to
avoid these issues.

In the next response a full eight marks awarded. This response fully meets the
L3 descriptor.
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12 Analyse the advantages and disadvantages to a small business such as Pet Boutigue of

leasing a wehicle,
(8)

pd AL WS (a8t fiash)y gagesialin et fee pntk et e dash
d.wmm;m_u b Ada Sl Ak AL s Vodoes Ok haethes oo

Lo, %an@_ﬁ'aﬂLummm; el G Lﬂ\MS:&mPM\JL&m ........

i, Contibe NI QS IEUTA wo s e e i o e et e i s e

ikl
Poiaes lotrapin S tooak ada ol oS pm2A, Sy, et Memesll

hiﬁ.ﬁm_ﬁLMBh“hMmq&ww ..... Aol CeneagLS
e A AT 0 o G mﬂth-mmmm,mghm‘ﬁ_ .....

[ESTRTPONE ¥y % 7 et

e L LLLL N ECCEEEE N CLrR

beenme..p Fdad e \dmdghonl, Puanr. Qo LEMAA MY, ek gk TS s, L
B R O e T LU
[ SR Y

e canha battere, a0t LA A R e .

e
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For the next example four marks were awarded placing it at the bottom of level
2. The advantages and disadvantages of leasing are present. However, there
are clear omissions of knowledge shown in the answer. There is correct
application to a small business.

o b skt g bisnad Sone £05 08 Paak loecasaing, Lo daadrtd. o

BRI g Y, AR LS, e sl bbbt kg el ﬂ-‘-“?-’ﬁ»"-m.--wﬁ S

Wamh b FRL Tt fus Lot Mok e nesed, ganss, e Y-ty
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12 Analyse the advantages and disadvantages to a small business such as Petf Boutlgue of
leasing a vehicle.

8

e legree  prrs o degnys  abwen | sE

b cctibactane o e M35 tet g

ooy flewdbilby | A e PrAlfiad | eainde
fhorefore  mokiny  ludgekiy o e easie,
or e B hgiaess  which el Aadg

L CBSh | flpay | poteatially | Aus

o i5  F Sfreadd oot ond

ARfosokle  hncomg.  as R PN e e A

& A A%adventuse of | (e 5 ThAt
il g Pt Boutique Sl f0 ke g

seized  dom S G0um cegd. G R
AGudi  oddo  be  thgoses b b e

- 2 -

iR

e Yo dogh o aedl fade ped

LR mking i Pedud@  ouse A et
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Q13

The next question was the impact that introducing a payment plan would have
on liquidity. Many learners spoke of how it would benefit the business but did
not make clear links to the impact on the business liquidity and discussed its
profitability. As a results marks for many learners were slightly lower than they
might have hoped for.

In the next example six marks were awarded placing it in mark band 2. Some
points were made but the development (at times) do not make explicit links to
cash flow / liquidity which impacted on marks awarded. A lack of
judgement/conclusion prevents it achieving Level 3.

13 Assess whether introducing annual payment plans would help improve Tomasz's
cash flow.

(10)
- T kralisomng Somusal paggmant planscaihd hadp vk Tomage's Coshidan
- QAbAEms 45 620, e olole LhSer Nt e (4 Expatant) Attt Mmm
Al haurt . 8. 10gukan \oma. rai lndb Cuslanasss Wlﬁmw

Doy Inaunt 200 - onth. . TAoduding Davial payoak pass msy. .
Qapay. MWM addiorners for Tomasz 45bedbe duggeesr

Adidaduankag mmwmmmmm
.ﬁm H:A{ ;aw*mmm hélokaam. o Ao dsaw’ M?EM

_ &u.ahﬁgiu'fm My (557 Arskamin thtit g Ay sl
ﬁmmwmwmwﬂmm _____________________________________________ |
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For th
points

e next example four marks awarded. There are two partially developed
which are linked to cash flow. This learner therefore achieved the bottom

of Level 2.

13 Assess whether intreducing annual payment plans would help improve Tomasz's
cash flow.

PRI

T

e SBAR3 L GG L CMOACES G ChaDNwe Sastainch. ey
A It e Soawne K L eoneon ks Sonia

. NagsT e Dﬁﬁ_ Mﬂ: ....... dﬂhmi::u ........ \ Mm

(10)
M coasd el . w;pmm oo 8T S O S Sles)

.................. ! W_M _mﬂmm& OG0

Mirh/ APEL Abt it e LERAND D hh_lgﬁm&p ;
LW ST O G G O ML OL O CAYD .
LN Al 2 A TR T FY< PTY- I afi&.m.am,l— Owath

ﬂmd..uil}'aruut_.} ........ u_hm_gmjwhﬂaﬁ_m:a__fﬂﬂkif_
o oo i, aun . Clivoet cloloifs Oiee .

Laxer.. Py, .
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Q14

The final question gave a scenario for learners to decide which would be the best
course of option for the business to choose. Where learners gave an answer in
detail it was often of good quality which discussed the benefits of each and came
up with a justified conclusion as to the best option to choose. These answers
were well rewarded. A number of learners did not have enough time or did not
understand the question as it was left blank. Learners should try to ensure that
they spend their time more evenly in order to complete the full paper.

In the next example the full 12 marks were awarded. The answer had balance

and depth and a fully justified conclusion. This answer met all of the Level 4
descriptors and was therefore placed at the top of mark band 4.
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14 Evaluate which option would be the most profitable for Per Boutigue.
{12)
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For the final example six marks awarded. Some points are developed, for
example the need for a loan/trade credit but there are a few omissions. The
conclusion lacks support and not all judgements are supported.

14 Evaluate which option would be the most profitable for Pet Boutique.
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Summary

Overall there are some clear examples of excellent practice taking place in centres.
Some strong examples of personal finance understanding were pleasing as a noted
improvement in the structure of the longer written answers with more evaluation
taking place which built on the improvement noted in the last series. Some
candidates spent too long on section A and, whilst they may have scored well this
was sometimes to the detriment of section B with some learners running out of
time as a result which seemed apparent on Q14. The following suggestions are
made on how learners can further improve their answers.

Ensure the question is read carefully to answer the question asked.

Ensure the amount of time is spread across the paper so all questions are
completed.

Always show the formula and workings in the calculation questions.
Workings should be labelled so the examiner can see the thought process
behind the answer.

Where there is more than one mark available knowledge points should be
developed further rather than giving isolated points of knowledge.

Aim to produce a balanced argument on all questions of 6 marks and above
in order to achieve the higher levels.

Where there are two or more elements to consider always try to give the
positive and negatives point for each rather than just repeating the content
or saying “x is better than y".

Use the scenario provided to apply knowledge and understanding in context.
If numbers are provided, this is a good opportunity to use these in answers
to support the arguments being presented. If relevant, do some calculations
to help you to give good context.

Provide a conclusion to the extended written answer questions that is
justified based on the arguments presented in the body of the response.
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